Large Ferguson Tables

(Mar. 22, 2015)

Table 1. Police departments with essentially the same EES value for differences between black and white arrest rates as the Ferguson Police Department, ranked by black to non-black arrest rate ratio (RR), with disparity index (DI) shown [ref b6317b4]

police department	state	Pop	Blk Perc Pop	Blk Perc Arr	Blk Arr Rt	NonBl Arr Rt	B/NB Ratio	Disparity Index	EES
Eureka Police Department	CA	27,191	1.89%	3.45%	513.62	276.76	1.86	1.83	0.63
Byhalia Police Department	MS	1,302	44.85%	61.80%	457.19	229.81	1.99	1.38	0.63
El Campo Police Department	TX	11,602	10.89%	20.30%	413.3	198.18	2.09	1.87	0.63
Winchester Police Department	VA	26,203	10.93%	20.56%	381.28	180.73	2.11	1.88	0.61
Selma Police Department	TX	5,540	9.03%	18.31%	338	149.60	2.26	2.03	0.62
South Salt Lake Police Department	UT	23,617	4.40%	9.44%	317.92	140.26	2.27	2.15	0.61
Bay City Police Department	TX	17,614	16%	30.44%	326.12	141.93	2.30	1.90	0.62
Tucson Police Department	AZ	520,116	5%	11.03%	309.15	131.23	2.36	2.21	0.63
Euless Police Department	тх	51,277	10.72%	22.06%	318.36	135.02	2.36	2.06	0.63
North Charleston Police Department	sc	97,471	47.16%	67.91%	298.69	125.98	2.37	1.44	0.63
Alvin Police Department	TX	24,236	3.07%	7.06%	272.85	113.83	2.40	2.30	0.61
Chickasha Police Department	ОК	16,036	7.12%	15.60%	287.47	119.10	2.41	2.19	0.62
Coraopolis Police Department	PA	5,677	11.96%	24.78%	288.66	119.05	2.42	2.07	0.62
Zanesville Police Department	ОН	25,487	9.70%	20.68%	271.44	111.84	2.43	2.13	0.62
Desert Hot Springs Police Department	CA	25,938	8.22%	18.33%	261.13	104.26	2.50	2.23	0.62
Centerville Police Department	GA	7,148	19.85%	38.21%	267.09	107	2.50	1.92	0.62
Brawley Police Department	CA	24,953	2.04%	4.98%	260.78	103.79	2.51	2.44	0.62
Kennett Police Department	МО	10,932	16.15%	32.72%	270.1	107.03	2.52	2.03	0.63
Atwater Police Department	CA	28,168	4.35%	10.37%	247.35	97.24	2.54	2.38	0.62
Fresno Police Department	CA	494,665	8.28%	18.78%	246.51	96.23	2.56	2.27	0.61
Thornton Police Department	со	118,772	1.84%	4.61%	250.34	97.10	2.58	2.51	0.63
Lockland Police Department	ОН	3,449	29.86%	52.41%	264.08	102.11	2.59	1.75	0.63
Kannapolis Police Department	NC	42,625	20.31%	39.89%	255.57	98.19	2.60	1.96	0.63
Athens Police Department	TX	12,710	17.75%	35.99%	234.49	90.01	2.61	2.03	0.62
Portland Police Department	ME	66,194	7.08%	16.57%	250.64	96.13	2.61	2.34	0.63
Bellefontaine Police Department	МО	10,860	72.67%	87.49%	234.92	89.29	2.63	1.20	0.63
Yazoo City Police Department	MS	11,403	82.48%	92.57%	221.16	83.58	2.65	1.12	0.61
New Paltz Police Department	NY	14,003	5.35%	13.02%	226.97	85.71	2.65	2.43	0.62
Arlington Police Department	TX	365,438	18.82%	38.17%	215.82	81.06	2.66	2.03	0.61
City of Coatesville Police Department	PA	13,100	46.40%	69.73%	223.23	83.89	2.66	1.50	0.62
Columbus Police Department	TX	3,655	17.87%	36.74%	231.24	86.61	2.67	2.06	0.62
Wilmington Police Department	DE	70,851	58.05%	78.71%	228.05	85.35	2.67	1.36	0.62
Zachary Police Department	LA	14,960	35.42%	59.47%	216.27	80.84	2.68	1.68	0.62
Farmville Police Department	NC	4,654	49.70%	72.68%	203.63	75.61	2.69	1.46	0.61
Sealy Police Department	тх	6,019	12.14%	27.41%	206.57	75.64	2.73	2.26	0.61
Stillwater Police Department	ОК	45,688	4.71%	11.89%	206.78	75.75	2.73	2.52	0.61
Marion Police Department	IN	29,948	14.71%	32.11%	199.95	72.94	2.74	2.18	0.61
Columbus Police Department	GA	189,885	45.50%	69.73%	204.97	74.28	2.76	1.53	0.61
Pampa Police Department	TX	17,994	3.31%	8.61%	191.6	69.54	2.76	2.60	0.61

police department	state	Pop	Blk Perc Pop	Blk Perc Arr	Blk Arr Rt	NonBl Arr Rt	B/NB Ratio	Disparity Index	EES
Franklin County Sheriff's Office	GA	22,084	8.38%	20.23%	209.73	75.62	2.77	2.41	0.63
Magnolia Police Department	NJ	4,341	18.27%	38.56%	201.77	71.87	2.81	2.11	0.62
Gramercy Police Department	LA	3,613	46.61%	71.15%	191.81	67.91	2.82	1.53	0.62
Garden Grove Police Department	CA	170,883	1.26%	3.47%	186.08	66.06	2.82	2.75	0.62
Ferguson Police Department	МО	21,203	67.43%	85.37%	186.12	66.03	2.82	1.27	0.62
Marina Police Department	CA	19,718	7.54%	18.67%	206.46	73.34	2.82	2.48	0.63
Hopkins County Sheriff's Office	TX	35,161	7.06%	17.68%	200.97	71.12	2.83	2.50	0.63
Covert Township Police Department	МІ	2,888	24.24%	47.58%	182.86	64.44	2.84	1.96	0.63
Perth Amboy Police Department	NJ	50,814	10.54%	25.32%	172.27	59.88	2.88	2.40	0.61
League City Police Department	TX	83,560	7.12%	18.21%	169.69	58.40	2.91	2.56	0.61
Hamlet Police Department	NC	6,495	36.61%	62.72%	166.95	57.32	2.91	1.71	0.61
Madera Police Department	CA	61,416	3.37%	9.20%	190.43	65.53	2.91	2.73	0.63
Fauquier County Sheriff's Office	VA	65,203	8.16%	20.58%	157.87	54.14	2.92	2.52	0.61
Huntington Beach Police Department	CA	189,992	0.95%	2.77%	177.61	60.17	2.95	2.90	0.63
Dallas Police Department	TX	1,197,816	24.96%	49.82%	169.53	56.81	2.98	2	0.62
Maple Shade Police Department	NJ	19,131	9.54%	24%	162.1	54.15	2.99	2.51	0.62
Norwood Police Department	MA	28,602	5.18%	14.09%	166.55	55.53	3	2.72	0.62
Fairmont Police Department	wv	18,704	7.54%	19.66%	153.79	51.29	3	2.61	0.62
Huber Heights Police Division	ОН	38,101	12.98%	31.12%	149.59	49.41	3.03	2.40	0.61
South Hill Police Department	VA	4,650	42.32%	68.96%	152.44	50.34	3.03	1.63	0.62
Lomita Los Angeles County Sheriff's Department	CA	20,256	5.31%	14.54%	159.07	52.40	3.04	2.74	0.63
Pomona Police Department	CA	149,058	7.33%	19.44%	169.63	55.59	3.05	2.65	0.63
Lithonia Police Department	GA	1,924	85.19%	94.63%	139.72	45.61	3.06	1.11	0.61
Fayetteville Police Department	NC	200,564	41.90%	69.10%	140.84	45.43	3.10	1.65	0.61
Suwanee Police Department	GA	15,355	10.78%	27.24%	154.08	49.71	3.10	2.53	0.63
Falls Township Police Department	PA	34,300	5.76%	15.90%	146.4	47.30	3.10	2.76	0.62
Newburgh Town Police Department	NY	29,801	12.23%	30.26%	143.52	46.07	3.12	2.48	0.62
Turner County Sheriff's Office	GA	8,930	41.57%	69.03%	154.9	49.44	3.13	1.66	0.63
Hayward Police Department	CA	144,186	11.86%	29.66%	137.55	43.90	3.13	2.50	0.62
Hatfield Township Police Department	PA	17,249	4.52%	12.95%	146.34	46.51	3.15	2.87	0.63
Edmond Police Department	ОК	81,405	5.53%	15.60%	147.33	46.64	3.16	2.82	0.63
Randolph County Sheriff's Office	NC	141,752	5.77%	16.19%	147.63	46.79	3.16	2.81	0.63
Howard County Sheriff's Department	IN	82,752	6.86%	19.42%	113.38	34.68	3.27	2.83	0.62
Weymouth Police Department	MA	53,743	3.07%	9.49%	121.14	36.63	3.31	3.09	0.62
Ferguson Township Police Department	PA	17,690	3.24%	10.09%	120.21	35.93	3.35	3.11	0.63
Framingham Police Department	MA	68,318	5.84%	17.28%	104.93	31.19	3.36	2.96	0.61
Harford County Sheriff's Office	MD	244,826	12.69%	32.84%	115.01	34.17	3.37	2.59	0.63
Buncombe County Sheriffs Office	NC	238,318	6.38%	18.75%	101.24	29.91	3.38	2.94	0.61
Plymouth Police Department	NC	3,878	68.41%	88.06%	111.19	32.65	3.41	1.29	0.62
Mission Viejo Orange County Sheriff's Department	CA	93,305	1.30%	4.31%	96.69	28.19	3.43	3.33	0.61
Peachtree City Police Department	GA	34,364	7.44%	21.69%	105.59	30.65	3.44	2.91	0.62
Village of Mamaroneck Police Department	NY	18,929	4.05%	12.72%	110.82	32.10	3.45	3.14	0.63
Leland Police Department	NC	13,527	10.02%	27.79%	101.03	29.25	3.45	2.77	0.61
Southlake Police Department	TX	26,575	2.06%	6.79%	104.01	30.08	3.46	3.29	0.62
Navajo County Sheriff's Office	AZ	107,449	0.87%	2.97%	110.87	31.90	3.48	3.40	0.63
Mesa County Sheriff's Office	со	146,723	0.64%	2.20%	91.98	26.25	3.50	3.45	0.61
Woodbury Police Department	MN	61,961	5.63%	17.61%	97.51	27.21	3.58	3.13	0.63

police department	state	Pop	Blk Perc Pop	Blk Perc Arr	Blk Arr Rt	NonBl Arr Rt	B/NB Ratio	Disparity Index	EES
Shelby Township Police Department	МІ	73,804	3.16%	10.52%	97.38	27.02	3.60	3.33	0.63
Greenbelt Police Department	MD	23,068	47.82%	77.09%	90.28	24.59	3.67	1.61	0.63
Denver Police Department	со	600,158	10.24%	29.79%	90.49	24.32	3.72	2.91	0.63
Easton Police Department	MA	23,112	3.22%	11.01%	83.22	22.40	3.72	3.42	0.63
Isabella County Sheriff's Department	МІ	70,311	2.38%	8.38%	74.58	19.90	3.75	3.52	0.62
New Rochelle Police Department	NY	77,062	19.27%	47.35%	74.09	19.66	3.77	2.46	0.61
Defiance County Sheriff's Office	ОН	39,037	1.86%	6.76%	75.86	19.81	3.83	3.64	0.62
Seat Pleasant Police Department	MD	4,542	91.04%	97.49%	75.21	19.66	3.83	1.07	0.62
Hall County Sheriff's Office	GA	179,684	7.39%	23.52%	75.31	19.54	3.85	3.18	0.62
Tuscola County Sheriff's Office	МІ	55,729	1.14%	4.29%	61.51	15.81	3.89	3.77	0.61
Montgomery County Police Department	MD	971,777	17.22%	44.74%	65.2	16.75	3.89	2.60	0.62
Cambridge Police Department	MA	105,162	11.65%	34.71%	62.84	15.59	4.03	2.98	0.61
Austin County Sheriff's Office	TX	28,417	9.39%	29.60%	55.47	13.67	4.06	3.15	0.62
Sacramento County Sheriff's Department	CA	1,418,788	10.37%	32.03%	53.71	13.18	4.08	3.09	0.62
Greene County Sheriff's Office	МО	275,174	2.87%	10.77%	60.19	14.72	4.09	3.76	0.63
Orange County Sheriff's Office	NC	133,801	11.90%	35.81%	56.88	13.78	4.13	3.01	0.62
Clarke County Sheriff's Office	GA	115,452	26.62%	60.78%	42.3	9.90	4.27	2.28	0.62
Winterville Police Department	NC	9,269	31.64%	66.68%	45.69	10.57	4.32	2.11	0.62
Phelps County Sheriff's Department	МО	45,156	2.23%	9.07%	47.62	10.90	4.37	4.06	0.62
Camden County Office Of The Sheriff	NJ	513,657	19.55%	54.38%	25.79	5.26	4.90	2.78	0.61
Montgomery County Sheriff's Office	MD	971,777	17.22%	58.55%	7.81	1.15	6.78	3.40	0.63
Muscogee County Marshal Office	GA	189,885	45.50%	86.90%	2.78	0.35	7.98	1.91	0.62

Table 2. Police departments with essentially the same EES value for differences between black and white arrest rates as the Ferguson Police Department, ranked by disparity index (DI), with black to non-black arrest rate ratio (RR) shown

police department	state	Рор	Blk Perc Pop	Blk Perc Arr	Blk Arr Rt	NonBl Arr Rt	B/NB Ratio	Disparity Index	EES
Seat Pleasant Police Department	MD	4,542	91.04%	97.49%	75.21	19.66	3.83	1.07	0.62
Lithonia Police Department	GA	1,924	85.19%	94.63%	139.72	45.61	3.06	1.11	0.61
Yazoo City Police Department	MS	11,403	82.48%	92.57%	221.16	83.58	2.65	1.12	0.61
Bellefontaine Police Department	МО	10,860	72.67%	87.49%	234.92	89.29	2.63	1.20	0.63
Ferguson Police Department	МО	21,203	67.43%	85.37%	186.12	66.03	2.82	1.27	0.62
Plymouth Police Department	NC	3,878	68.41%	88.06%	111.19	32.65	3.41	1.29	0.62
Wilmington Police Department	DE	70,851	58.05%	78.71%	228.05	85.35	2.67	1.36	0.62
Byhalia Police Department	MS	1,302	44.85%	61.80%	457.19	229.81	1.99	1.38	0.63
North Charleston Police Department	SC	97,471	47.16%	67.91%	298.69	125.98	2.37	1.44	0.63
Farmville Police Department	NC	4,654	49.70%	72.68%	203.63	75.61	2.69	1.46	0.61
City of Coatesville Police Department	PA	13,100	46.40%	69.73%	223.23	83.89	2.66	1.50	0.62
Gramercy Police Department	LA	3,613	46.61%	71.15%	191.81	67.91	2.82	1.53	0.62
Columbus Police Department	GA	189,885	45.50%	69.73%	204.97	74.28	2.76	1.53	0.61
Greenbelt Police Department	MD	23,068	47.82%	77.09%	90.28	24.59	3.67	1.61	0.63
South Hill Police Department	VA	4,650	42.32%	68.96%	152.44	50.34	3.03	1.63	0.62
Fayetteville Police Department	NC	200,564	41.90%	69.10%	140.84	45.43	3.10	1.65	0.61
Turner County Sheriff's Office	GA	8,930	41.57%	69.03%	154.9	49.44	3.13	1.66	0.63
Zachary Police Department	LA	14,960	35.42%	59.47%	216.27	80.84	2.68	1.68	0.62
Hamlet Police Department	NC	6,495	36.61%	62.72%	166.95	57.32	2.91	1.71	0.61
Lockland Police Department	ОН	3,449	29.86%	52.41%	264.08	102.11	2.59	1.75	0.63
Eureka Police Department	CA	27,191	1.89%	3.45%	513.62	276.76	1.86	1.83	0.63
El Campo Police Department	TX	11,602	10.89%	20.30%	413.3	198.18	2.09	1.87	0.63
Winchester Police Department	VA	26,203	10.93%	20.56%	381.28	180.73	2.11	1.88	0.61
Bay City Police Department	TX	17,614	16%	30.44%	326.12	141.93	2.30	1.90	0.62
Muscogee County Marshal Office	GA	189,885	45.50%	86.90%	2.78	0.35	7.98	1.91	0.62
Centerville Police Department	GA	7,148	19.85%	38.21%	267.09	107	2.50	1.92	0.62
Covert Township Police Department	MI	2,888	24.24%	47.58%	182.86	64.44	2.84	1.96	0.63
Kannapolis Police Department	NC	42,625	20.31%	39.89%	255.57	98.19	2.60	1.96	0.63
Dallas Police Department	TX	1,197,816	24.96%	49.82%	169.53	56.81	2.98	2	0.62
Kennett Police Department	МО	10,932	16.15%	32.72%	270.1	107.03	2.52	2.03	0.63
Athens Police Department	TX	12,710	17.75%	35.99%	234.49	90.01	2.61	2.03	0.62
Arlington Police Department	TX	365,438	18.82%	38.17%	215.82	81.06	2.66	2.03	0.61
Selma Police Department	TX	5,540	9.03%	18.31%	338	149.60	2.26	2.03	0.62
Columbus Police Department	TX	3,655	17.87%	36.74%	231.24	86.61	2.67	2.06	0.62
Euless Police Department	TX	51,277	10.72%	22.06%	318.36	135.02	2.36	2.06	0.63
Coraopolis Police Department	PA	5,677	11.96%	24.78%	288.66	119.05	2.42	2.07	0.62
Winterville Police Department	NC	9,269	31.64%	66.68%	45.69	10.57	4.32	2.11	0.62
Magnolia Police Department	NJ	4,341	18.27%	38.56%	201.77	71.87	2.81	2.11	0.62
Zanesville Police Department	ОН	25,487	9.70%	20.68%	271.44	111.84	2.43	2.13	0.62
South Salt Lake Police Department	UT	23,617	4.40%	9.44%	317.92	140.26	2.27	2.15	0.61
Marion Police Department	IN	29,948	14.71%	32.11%	199.95	72.94	2.74	2.18	0.61
Chickasha Police Department	ОК	16,036	7.12%	15.60%	287.47	119.10	2.41	2.19	0.62

Desert Hot Springs Police Department Sealy Police Department Fresno Police Department Clarke County Sheriff's Office Alvin Police Department T	AZ CA CA CA CA CA CA CA CA CA CX	520,116 25,938 6,019 494,665	5% 8.22% 12.14%	11.03% 18.33%	309.15	131.23	2.36	2.21	0.63
Sealy Police Department T Fresno Police Department C Clarke County Sheriff's Office G Alvin Police Department T	CA GA	6,019		18.33%					0.03
Fresno Police Department C Clarke County Sheriff's Office G Alvin Police Department T	CA GA		12.14%		261.13	104.26	2.50	2.23	0.62
Clarke County Sheriff's Office G Alvin Police Department T	3A	494,665		27.41%	206.57	75.64	2.73	2.26	0.61
Alvin Police Department			8.28%	18.78%	246.51	96.23	2.56	2.27	0.61
· ·	ГХ	115,452	26.62%	60.78%	42.3	9.90	4.27	2.28	0.62
Portland Police Department		24,236	3.07%	7.06%	272.85	113.83	2.40	2.30	0.61
	ΜE	66,194	7.08%	16.57%	250.64	96.13	2.61	2.34	0.63
Atwater Police Department C	CA	28,168	4.35%	10.37%	247.35	97.24	2.54	2.38	0.62
Huber Heights Police Division C	ЭН	38,101	12.98%	31.12%	149.59	49.41	3.03	2.40	0.61
Perth Amboy Police Department	٧J	50,814	10.54%	25.32%	172.27	59.88	2.88	2.40	0.61
Franklin County Sheriff's Office	3A	22,084	8.38%	20.23%	209.73	75.62	2.77	2.41	0.63
New Paltz Police Department	NΥ	14,003	5.35%	13.02%	226.97	85.71	2.65	2.43	0.62
Brawley Police Department C	CA	24,953	2.04%	4.98%	260.78	103.79	2.51	2.44	0.62
New Rochelle Police Department	NΥ	77,062	19.27%	47.35%	74.09	19.66	3.77	2.46	0.61
Newburgh Town Police Department	٧Y	29,801	12.23%	30.26%	143.52	46.07	3.12	2.48	0.62
Marina Police Department	CA	19,718	7.54%	18.67%	206.46	73.34	2.82	2.48	0.63
Hayward Police Department C	CA	144,186	11.86%	29.66%	137.55	43.90	3.13	2.50	0.62
Hopkins County Sheriff's Office	ТХ	35,161	7.06%	17.68%	200.97	71.12	2.83	2.50	0.63
Thornton Police Department C	0.0	118,772	1.84%	4.61%	250.34	97.10	2.58	2.51	0.63
Maple Shade Police Department	NJ	19,131	9.54%	24%	162.1	54.15	2.99	2.51	0.62
Fauquier County Sheriff's Office	/A	65,203	8.16%	20.58%	157.87	54.14	2.92	2.52	0.61
Stillwater Police Department C	DΚ	45,688	4.71%	11.89%	206.78	75.75	2.73	2.52	0.61
Suwanee Police Department G	ŝΑ	15,355	10.78%	27.24%	154.08	49.71	3.10	2.53	0.63
League City Police Department T	ТХ	83,560	7.12%	18.21%	169.69	58.40	2.91	2.56	0.61
Harford County Sheriff's Office	MD	244,826	12.69%	32.84%	115.01	34.17	3.37	2.59	0.63
Montgomery County Police Department	MD	971,777	17.22%	44.74%	65.2	16.75	3.89	2.60	0.62
Pampa Police Department T	ТХ	17,994	3.31%	8.61%	191.6	69.54	2.76	2.60	0.61
Fairmont Police Department	۸۷	18,704	7.54%	19.66%	153.79	51.29	3	2.61	0.62
Pomona Police Department C	CA	149,058	7.33%	19.44%	169.63	55.59	3.05	2.65	0.63
Norwood Police Department	MA	28,602	5.18%	14.09%	166.55	55.53	3	2.72	0.62
Madera Police Department C	CA	61,416	3.37%	9.20%	190.43	65.53	2.91	2.73	0.63
	CA	20,256	5.31%	14.54%	159.07	52.40	3.04		0.63
Garden Grove Police Department	CA	170,883	1.26%	3.47%	186.08	66.06	2.82	2.75	0.62
Falls Township Police Department P	РА	34,300	5.76%	15.90%	146.4	47.30	3.10	2.76	0.62
Leland Police Department	NC	13,527	10.02%	27.79%	101.03	29.25	3.45	2.77	0.61
Camden County Office Of The Sheriff	1 J	513,657	19.55%	54.38%	25.79	5.26	4.90	2.78	0.61
Randolph County Sheriff's Office	NC	141,752	5.77%	16.19%	147.63	46.79	3.16	2.81	0.63
Edmond Police Department C	ЭК	81,405	5.53%	15.60%	147.33	46.64	3.16	2.82	0.63
Howard County Sheriff's Department	N	82,752	6.86%	19.42%	113.38	34.68	3.27	2.83	0.62
Hatfield Township Police Department	PA	17,249	4.52%	12.95%	146.34	46.51	3.15	2.87	0.63
Huntington Beach Police Department C	CA	189,992	0.95%	2.77%	177.61	60.17	2.95	2.90	0.63
Denver Police Department C	0.0	600,158	10.24%	29.79%	90.49	24.32	3.72		0.63
	3A	34,364	7.44%	21.69%	105.59	30.65	3.44		0.62
	NC	238,318	6.38%	18.75%	101.24	29.91	3.38		0.61
	MA	68,318	5.84%	17.28%	104.93	31.19	3.36		0.61
	MΑ	105,162	11.65%	34.71%	62.84	15.59	4.03		0.61
	VIC.	133,801	11.90%	35.81%	56.88	13.78	4.13		0.62

police department	state	Рор	Blk Perc Pop	Blk Perc Arr	Blk Arr Rt	NonBl Arr Rt	B/NB Ratio	Disparity Index	EES
Weymouth Police Department	MA	53,743	3.07%	9.49%	121.14	36.63	3.31	3.09	0.62
Sacramento County Sheriff's Department	CA	1,418,788	10.37%	32.03%	53.71	13.18	4.08	3.09	0.62
Ferguson Township Police Department	PA	17,690	3.24%	10.09%	120.21	35.93	3.35	3.11	0.63
Woodbury Police Department	MN	61,961	5.63%	17.61%	97.51	27.21	3.58	3.13	0.63
Village of Mamaroneck Police Department	NY	18,929	4.05%	12.72%	110.82	32.10	3.45	3.14	0.63
Austin County Sheriff's Office	TX	28,417	9.39%	29.60%	55.47	13.67	4.06	3.15	0.62
Hall County Sheriff's Office	GA	179,684	7.39%	23.52%	75.31	19.54	3.85	3.18	0.62
Southlake Police Department	TX	26,575	2.06%	6.79%	104.01	30.08	3.46	3.29	0.62
Mission Viejo Orange County Sheriff's Department	CA	93,305	1.30%	4.31%	96.69	28.19	3.43	3.33	0.61
Shelby Township Police Department	МІ	73,804	3.16%	10.52%	97.38	27.02	3.60	3.33	0.63
Montgomery County Sheriff's Office	MD	971,777	17.22%	58.55%	7.81	1.15	6.78	3.40	0.63
Navajo County Sheriff's Office	AZ	107,449	0.87%	2.97%	110.87	31.90	3.48	3.40	0.63
Easton Police Department	MA	23,112	3.22%	11.01%	83.22	22.40	3.72	3.42	0.63
Mesa County Sheriff's Office	со	146,723	0.64%	2.20%	91.98	26.25	3.50	3.45	0.61
Isabella County Sheriff's Department	МІ	70,311	2.38%	8.38%	74.58	19.90	3.75	3.52	0.62
Defiance County Sheriff's Office	ОН	39,037	1.86%	6.76%	75.86	19.81	3.83	3.64	0.62
Greene County Sheriff's Office	МО	275,174	2.87%	10.77%	60.19	14.72	4.09	3.76	0.63
Tuscola County Sheriff's Office	МІ	55,729	1.14%	4.29%	61.51	15.81	3.89	3.77	0.61
Phelps County Sheriff's Department	МО	45,156	2.23%	9.07%	47.62	10.90	4.37	4.06	0.62

Table 3. Police departments with essentially the same black to non-black arrest rate ratio (RR) as the Ferguson Police Department, ranked by EES, with disparity index (DI) shown

police department	state	Рор	Blk Perc Pop	Blk Perc Arr	Blk Arr Rt	NonBl Arr Rt	B/NB Ratio	Disparity Index	EES
Tarrant County Hospital District Police Department	TX	1,809,034	14.87%	32.92%	0.59	0.21	2.83	2.21	0.27
Stuttgart Police Department	AR	9,326	36.54%	61.99%	62.21	21.97	2.83	1.70	0.47
Yorba Linda Orange County Sheriff's Department	CA	64,234	1.30%	3.58%	63.47	22.49	2.82	2.76	0.48
Iberia Parish Sheriff's Office	LA	73,240	32%	57.08%	65.59	23.21	2.83	1.78	0.48
Licking County Sheriff's Office	ОН	166,492	3.42%	9.05%	88.23	31.44	2.81	2.64	0.51
Marlborough Police Department	MA	38,499	2.76%	7.42%	97.08	34.35	2.83	2.69	0.53
Dixon Police Department	CA	18,351	3.06%	8.19%	97.86	34.68	2.82	2.67	0.54
Suffolk Police Department	VA	84,585	42.70%	67.86%	117.66	41.54	2.83	1.59	0.55
San Bernardino Police Department	CA	209,924	15.04%	33.40%	131.31	46.37	2.83	2.22	0.56
Athens-Clarke County Police Department	GA	115,452	26.62%	50.46%	155.47	55.37	2.81	1.90	0.58
Lynwood Los Angeles County Sheriff's Department	CA	69,772	10.27%	24.51%	151.93	53.59	2.83	2.39	0.59
Garden Grove Police Department	CA	170,883	1.26%	3.47%	186.08	66.06	2.82	2.75	0.62
Gramercy Police Department	LA	3,613	46.61%	71.15%	191.81	67.91	2.82	1.53	0.62
Ferguson Police Department	МО	21,203	67.43%	85.37%	186.12	66.03	2.82	1.27	0.62
Magnolia Police Department	NJ	4,341	18.27%	38.56%	201.77	71.87	2.81	2.11	0.62
Marina Police Department	CA	19,718	7.54%	18.67%	206.46	73.34	2.82	2.48	0.63
Hopkins County Sheriff's Office	TX	35,161	7.06%	17.68%	200.97	71.12	2.83	2.50	0.63
Honolulu Police Department	HI	953,207	2.02%	5.50%	207.99	73.75	2.82	2.72	0.64
Concord Police Department	NC	79,066	17.85%	37.99%	244.22	86.61	2.82	2.13	0.67
Beaver Falls Police Department	PA	8,987	19.32%	40.31%	255.18	90.47	2.82	2.09	0.68
Tulare Police Department	CA	59,278	3.93%	10.38%	257.73	90.99	2.83	2.64	0.69
La Porte Police Department	TX	33,800	6.21%	15.77%	276.67	97.89	2.83	2.54	0.70
Camden Police Department	DE	3,464	23.56%	46.57%	316.18	111.78	2.83	1.98	0.75
City Of Washington Police Department	PA	13,663	15.90%	34.74%	344.84	122.44	2.82	2.19	0.76
Kent Police Department	ОН	28,904	9.62%	23.16%	360.53	127.40	2.83	2.41	0.78
City Of West Columbia Police Department	SC	14,988	18.47%	38.99%	369.09	130.86	2.82	2.11	0.79
Hammond Police Department	LA	20,019	47.52%	71.96%	479.61	169.25	2.83	1.51	0.91

 $Table \ 4. \ Police \ departments \ with \ essentially \ the \ same \ disparity \ index \ (DI) \ as \ the \ Ferguson \ Police \ Department, \ ranked \ by \ EES, \ with \ black \ to \ non-black \ arrest \ rate \ ratio \ (RR) \ shown$

police department	state	Pop	Blk Perc Pop	Blk Perc Arr	Blk Arr Rt	NonBl Arr Rt	B/NB Ratio	Disparity Index	EES
Allegany County Sheriff's Office	MD	75,087	8.03%	10.20%	52.42	40.27	1.30	1.27	0.13
Azusa Police Department	CA	46,361	3.23%	4.09%	73.38	57.53	1.28	1.26	0.13
Santa Fe County Sheriff's Office	NM	144,170	0.86%	1.10%	53.27	41.64	1.28	1.28	0.13
Fairbanks Police Department	AK	31,535	8.97%	11.39%	142.76	109.53	1.30	1.27	0.16
Bowie County Sheriff's Office	TX	92,565	24.19%	30.96%	54.76	38.96	1.41	1.28	0.16
Clayton Police Department	DE	2,918	24.61%	31.23%	110.03	79.09	1.39	1.27	0.19
Meriwether County Sheriff's Office	GA	21,992	39.13%	49.92%	37.65	24.28	1.55	1.28	0.19
Hazlehurst Police Department	GA	4,226	29.60%	37.43%	109.51	76.97	1.42	1.26	0.20
Knightdale Police Department	NC	11,401	38.31%	48.59%	71.2	46.78	1.52	1.27	0.21
Rome Police Department	GA	36,303	27.75%	35.35%	142.03	99.78	1.42	1.27	0.21
Fulton Police Department	KY	2,445	30.51%	38.70%	135.39	94.17	1.44	1.27	0.23
Hardeman County Sheriff's Office	TN	27,253	41.39%	52.43%	79.51	50.96	1.56	1.27	0.23
Newton County Sheriff's Office	GA	99,958	40.90%	51.98%	84.74	54.16	1.56	1.27	0.24
Rockdale County Sheriff's Office	GA	85,215	46.42%	59.22%	67.44	40.24	1.68	1.28	0.25
Merrillville Police Department	IN	35,246	44.47%	56.55%	82.12	50.53	1.63	1.27	0.25
Vance County Sheriff's Office	NC	45,422	49.85%	63.35%	78.34	45.05	1.74	1.27	0.27
Plainfield Police Department	NJ	49,808	50.20%	63.81%	74.62	42.66	1.75	1.27	0.29
Seneca Police Department	SC	8,102	28.98%	36.70%	298.55	210.11	1.42	1.27	0.29
Cedar Hill Police Department	TX	45,028	51.93%	65.77%	89	50.03	1.78	1.27	0.29
St. Robert Police Department	МО	4,340	22.07%	28.08%	418.58	303.67	1.38	1.27	0.30
Charleston Department of Public Safety	МО	5,947	50.45%	64.22%	113.67	64.47	1.76	1.27	0.32
City Of Monroe Police Department	GA	13,234	42.39%	53.57%	245.81	156.74	1.57	1.26	0.32
Richmond County Sheriff's Office	GA	195,844	54.73%	69.40%	131.93	70.31	1.88	1.27	0.35
Kemper County Sheriff's Office	MS	10,456	60.14%	76.92%	66.79	30.23	2.21	1.28	0.38
Pelham Police Department	GA	3,898	60.29%	76.58%	72.34	33.59	2.15	1.27	0.38
Newton Police Department	MS	3,373	62.44%	78.76%	151.47	67.88	2.23	1.26	0.45
Dumas Police Department	AR	4,706	63.24%	80.77%	105.85	43.35	2.44	1.28	0.46
Columbus Police Department	MS	23,640	60.01%	76.37%	200.04	92.88	2.15	1.27	0.49
Mullins Police Department	SC	4,663	65.75%	83.24%	139.27	53.85	2.59	1.27	0.53
Riverview Police Department	МО	2,856	69.89%	88.15%	93.19	29.07	3.21	1.26	0.57
City Of Hayti Police Department	МО	2,939	45.12%	57.70%	553.54	333.54	1.66	1.28	0.58
Ferguson Police Department	МО	21,203	67.43%	85.37%	186.12	66.03	2.82	1.27	0.62
Belzoni Police Department	MS	2,235	75.39%	95.47%	162.61	23.64	6.88	1.27	1